

Date: October 10, 2022

To, To,

The Secretary, The Manager,

Listing Department Listing Department,

BSE Limited National Stock Exchange of India Limited

P.J Towers, Dalal Street, Fort, Exchange Plaza. 5thFloor, Plot No. C/1, G

Mumbai - 400 001 Block Bandra-Kurla Complex, Bandra (E),

Mumbai-400051, Maharashtra.

Scrip Code: 531723 / 570005 Symbol: STAMPEDE / SCAPDVR

Dear Sir / Madam,

SUBJECT: INTIMATION OF OUTCOME OF ALLOTMENT OF EQUITY SHARES WITH DIFFERENTIAL VOTING RIGHTS SHARES ("DVR") ON A PREFERENTIAL BASIS.

REFERENCE: REGULATION 30 OF THE SECURITIES AND EXCHANGE BOARD OF INDIA ("SEBI") (LISTING OBLIGATIONS AND DISCLOSURE REQUIREMENTS) REGULATIONS. 2015 ("THE LISTING REGUTATIONS")

In furtherance to the captioned subject and mentioned reference, we wish to inform you that the Board of Directors of the Company through a resolution passed by circulation on October 09, 2022, had an allotment of 7,95,988 (Seven Lakh Ninety-Five Thousand Nine Hundred and Eighty-Eight) Equity Shares with Differential Voting Rights of the Company, at a face value of 1/- (Rupees One) each at a premium of 5.82/- per share aggregating to Rs. 54,28,638/- (Rupees Fifty-Four Lakh Twenty-Eight Thousand Six Hundred and Thirty-Eight only) on preferential allotment basis.

Type of Securities issued	Equity Shares with Differential Voting Rights ("DVR")					
Type of Issuance	Preferential Allotment					
Total No. of Securities issued	7,95,988					
Face Value	Re. 1/-					
Premium	Rs. 5.82-/					
Issued Price	Rs. 6.82/-					
Total Amount for which securities	Rs. 54,28,638					
issued (Total Subscription Amount)						

Pursuant to this Allotment, the paid-up Equity Share Capital with Differential Voting Rights of the Company stands increased **FROM** Rs. 5,72,52,800 /- comprising of 5,72,52,800 equity

REGISTERED OFFICE: KURA Towers, 10th Floor, D. No. 1-11-254 & 1-11-255 S.P. Road, Begumpet, Hyderabad-500016, Telangana, India.

CIN: L67120TG1995PLC020170

WEBSITE: https://www.stampedecap.com/ EMAIL ID: cs@stampedecap.com



shares of Re. 1/- each fully paid-up **TO** Rs. 5,80,48,788 /- comprising of 5,80,48,788 equity shares of Re. 1/- each fully paid-up.

The brief details of allottees which is hereto marked as **Exhibit - A**.

This intimation is also being made available on the Company's website at: https://www.stampedecap.com/static/egm.aspx.

We request you to take the above on your record.

Thanking You, Yours faithfully

For and on Behalf of STAMPEDE CAPITAL LIMITED

Abhishek Jain Company Secretary & Compliance Officer

Place: Hyderabad

Membership No.: A62027

Encl : a/a

WEBSITE: https://www.stampedecap.com/ EMAIL ID: cs@stampedecap.com



DISCLOSURES A REQUIRED UNDER REGULATION 30 OF THE SEBI (LISTING OBLIGATIONS AND DISCLOSURE REQUIREMENTS) REGULATIONS, 2015.

THE DETAILS REGARDING THE ISSUANCE /ALLOTMENT OF SECURITIES AS REQUIRED PURSUANT TO SEBI CIRCULAR CIR/CFD/CMD/4/2015 DATED SEPTEMBER 09, 2015.

Exhibit-A

Sr. No.	Name of Allotees	Category	PAN	No. of Equity Share Allotted	Paid Up Value (Nominal + Premium)	Total subscription Amount (Rs.)
1.	Juna Basvi Reddy	Non-Promoter	AELPJ2952B	66,666	6.82	4,54,662
2.	Bhimavarupu Durga Prasad Reddy	Non-Promoter	AEYPB9505P	66,666	6.82	4,54,662
3.	Junna Shekar Reddy	Non-Promoter	AFIPJ3718B	66,666	6.82	4,54,662
4.	FENO Business Solution Private Limited	Non-Promoter	AACCJ2610A	3,33,333	6.82	22,73,331
5.	Junna Vijaya Rani	Non-Promoter	AHDPJ2054M	66,666	6.82	4,54,662
6.	Penigalapati Sivaram	Non-Promoter	ATIPP6197N	66,666	6.82	4,54,662

REGISTERED OFFICE: KURA Towers, 10th Floor, D. No. 1-11-254 & 1-11-255 S.P. Road, Begumpet, Hyderabad-500016, Telangana, India. CIN: L67120TG1995PLC020170

WEBSITE: https://www.stampedecap.com/EMAIL ID: cs@stampedecap.com



Total			7,95,988	-	54,28,638	
8.	Hari Prasad Vadlamudi	Non-Promoter	AYEPV2260M	29,325	6.82	1,99,997
7.	Mallikarjuna Madava	Non-Promoter	AJLPM7637F	1,00,000	6.82	6,82,000

Thanking You,

Yours faithfully,

For and on Behalf of STAMPEDE CAPITAL LIMITED

Abhishek Jain

Company Secretary & Compliance Officer

Membership No.: A62027

Place: Hyderabad

 $\underline{\textbf{REGISTERED OFFICE:}} \text{ KURA Towers, 10th Floor, D. No. 1-11-254 \& 1-11-255 S.P. Road, Begumpet, Hyderabad-500016, Telangana, India.}$

CIN: L67120TG1995PLC020170

WEBSITE: https://www.stampedecap.com/EMAIL ID: cs@stampedecap.com